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Base=T1 A Atedl= () A
m FH m (1,000) 100
P
At (494) 49
Oof Xt (506) 51
e
18-294A (168) 17
30-39A (151) 15
40-49KM| (184) 18
50-59A (195) 20
60M| O] & (302) 30
HEXH
MZ (187) 19
QI /47| (318) 32
/ME/58 (106) 11
/et 97) 10
/85 (98) 10
2iy2i/8d (150) 15
ZR/HF (44) 4
e
1 E0|8} (568) 57
CHXHO| &f (432) 43
A
S/Y9/0 Y (13) 1
HE e (80) 8
oK/ R/ ME A (93) 9
MA 7|5/ (98) 10
AR /2E| /M2 (245) 25
F= (148) 15
i (75) 8
7| E} (126) 13
22/ % (122) 12
EHEX|Ll
GA dF 22X} (357) 36
HIY2 da224t (148) 15
PN RPN (151) 15
HIZH s (344) 34
Y™ 71rA S
2002H0| 3t (154) 15
2000+ O|&h-300THR O|gt (172) 17
3002t O|Ab-4002H O|gk (175) 18
4002tel O|Ak-5002t9 Ofat (158) 16
5002H O|Ah-6002tel 0|2t (89) 9
600THY O|&f-7002t@ 0Tt (78) 8
700TH 0| A (174) 17
FHH ABZUH
NS (318) 32
stS (659) 66
D=2 (23) 2
o3 dg(11%d)
Rl H(0-4) (277) 28
ZE(5) (360) 36
22(6-10) (304) 30
RE (59) 6
e /F
INIE NS E= (368) 37
IR0t Xt AS 81 8
EF0 XH US (163) 16
geol Xt A (423) 42
odd xty g2
AUS (209) 21
A= (791) 79
cher st 2eMd
O Qsct (650) 65
ZQstR| kLt (333) 33
o2t (17) 2

[
Hankook {Research



[(E a01] LSt M=t

[A433] PE|Lt2te] CHst A Etof CHol ofE A 2ot Lt

TRl %
OEEE @ ™9 ®+®
Base= %] e @ | DAn QOEI= D0 gasx W dzem seag A
- - - QFCh Qrct QFCH
m A m (1,000) 38 47 85 1 1 13 3 100
a4
=Xt (494) 40 44 84 12 2 14 3 100
of X} (506) 37 49 86 11 0 12 3 100
e
18-29A| (168) 44 48 92 5 0 5 3 100
30-39A| (151) 42 42 84 11 1 12 4 100
40-49M| (184) 42 45 87 9 1 10 3 100
50-59A (195) 41 44 84 12 2 14 2 100
60X 0] 4 (302) 30 51 81 17 2 18 1 100
HEXY
M2 (187) 33 46 79 18 2 20 1 100
RIHE /47| (318) 40 47 87 9 1 10 3 100
L/ MB/5H (106) 40 44 84 13 1 13 3 100
/et (97) 45 47 92 3 1 4 4 100
/4= (98) 34 47 80 15 0 15 5 100
BA2L/4E (150) 39 47 86 11 1 12 2 100
ZE/AF (44) 41 45 87 9 2 11 2 100
EE]
1EO|S} (568) 38 47 85 10 2 11 4 100
CHR{ O] A (432) 38 46 85 14 1 15 1 100
A
5/8/0 Y (13) 45 33 78 14 8 22 0 100
A (80) 40 47 87 9 4 12 1 100
THOH/ /M H A (93) 35 52 87 9 0 9 4 100
Wil s/= R (98) 41 45 86 13 1 13 1 100
AtR/2e| /M2 (245) 44 44 88 11 1 12 1 100
=] (148) 32 51 83 16 0 16 1 100
SHAl (75) 49 45 94 2 0 2 4 100
7|E} (126) 34 51 85 10 2 12 4 100
LD x| /E| %] (122) 33 43 76 16 2 19 6 100
AL
A a2 2Rt (357) 42 45 87 10 1 11 2 100
HEF2 dF 22X (148) 35 49 84 12 1 13 3 100
At AKX} (151) 39 48 86 1 2 13 1 100
HZHNES (344) 36 47 83 13 1 14 4 100
g ‘a5
2002HRlO) ot (154) 34 47 81 12 1 12 7 100
2002+ Of2f-3002HR Ot (172) 37 47 84 12 2 13 3 100
3002t OfA-4002tel OJEE (175) 35 51 86 12 1 13 1 100
4007t O|4f-5002tel O)ot (158) 43 48 90 8 1 9 1 100
5002t O|Ah-6002Hl OJEH (89) 40 44 84 14 1 15 1 100
6002t O|AH-7002t@ O|2F (78) 39 47 86 11 1 12 1 100
7002t 0| A (174) 42 42 84 12 2 14 2 100
FEHE A B0
R (318) 33 48 81 15 2 18 2 100
s5t= (659) 42 46 87 10 1 10 3 100
Dact (23) 24 53 77 6 0 6 16 100
ol'dde(11d)
T (0-4) (277) 47 45 92 6 1 8 1 100
ZZ(5) (360) 40 48 88 9 1 10 2 100
H26-10) (304) 28 47 75 20 2 22 3 100
Dz (59) 44 44 89 3 0 3 8 100
e /5
e s (368) 43 44 87 9 0 9 5 100
RO Rt UAS (81) 32 53 85 9 2 12 4 100
AT XHE A (163) 47 42 90 8 1 9 1 100
ol Xt A (423) 32 50 82 15 2 17 1 100
ojdd Xt |7
A (209) 42 46 88 9 1 10 2 100
= (791) 37 47 84 12 1 13 3 100
CHsr Zish Ee’d
ZQsict (650) 41 46 87 11 1 11 2 100
ZQastx| got (333) 35 48 83 14 2 16 2 100
na7ct (17) 26 33 59 0 0 0 41 100
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[& a02] CHEt 7Et of 2 Sl Tk Cisted XpH fd2bd: 1. CHEXIRE DEXt 7ol At
[A434_1] S2|Lt2to|A of2H MA|Zl= Lo [HE XHEHO| o= MEatd M2stal L 7t?
TRl %
@ O§< @ CHH= O+@ ® g2 @ ™9 ®+®
Base=TH MAT @) | epot metck | Mottt MebRl enh MebR ek Metx| ep oA A
= HA m (1,000) 36 51 87 10 1 11 2 100
a4
=Xt (494) 39 48 87 11 1 12 1 100
Of Xt (506) 34 54 87 10 1 11 2 100
E]
18-29A| (168) 33 52 85 11 2 13 2 100
30-39A (151) 33 46 79 15 1 16 4 100
40-49M| (184) 43 48 91 6 1 7 2 100
50-59A (195) 40 51 92 6 2 8 1 100
60M| O] A (302) 33 54 87 13 0 13 0 100
HEXH
M2 (187) 34 47 81 14 2 17 3 100
Q1M 7| (318) 40 48 88 10 1 10 2 100
L/ ME/5H (106) 33 48 81 14 1 15 4 100
/et (97) 33 57 90 6 1 7 3 100
/45 (98) 29 59 88 10 1 11 1 100
BA2i/de (150) 41 53 94 5 1 6 0 100
ZA/HF (44) 31 56 87 13 0 13 0 100
L]
nE0o|st (568) 41 50 90 8 1 9 1 100
CHR{ O A (432) 30 53 83 13 2 14 2 100
o
S//0 Y (13) 23 62 85 15 0 15 0 100
PR R (80) 33 54 86 12 2 14 0 100
oo/ F /A H A (93) 33 52 85 15 0 15 0 100
WIS/ =R (98) 42 41 84 15 0 15 2 100
AR /22 (245) 34 51 84 10 2 12 4 100
ESE (148) 35 55 90 9 1 9 1 100
oA (75) 35 57 92 6 2 7 1 100
7| E} (126) 40 49 89 9 1 10 2 100
2E/E|E| (122) 40 50 90 8 1 9 1 100
&
o dF2ER (357) 36 50 86 10 1 11 2 100
HEa dF 22X} (148) 35 45 80 17 0 17 3 100
NI ReDN (151) 36 53 89 9 2 11 1 100
HZHE= (344) 37 54 90 8 1 9 1 100
Hg7 hras
2000t/ 0) 2k (154) 33 50 82 14 1 16 2 100
2002+ O] Ab-3002HR! O|t (172) 39 46 84 13 2 14 2 100
3002t OfAh-4002tel DOJGE (175) 32 58 90 7 1 8 2 100
4002H O|4f-5007H O] 2k (158) 41 53 93 6 0 6 1 100
5002t O|A-go02tel OJFk (89) 32 55 86 12 0 12 1 100
6002+ O] Ah-7002HR O|t (78) 40 48 88 10 0 10 2 100
7002+ O] A (174) 37 49 86 10 2 12 2 100
FEHE A BN
ZAE (318) 33 50 83 14 2 16 1 100
sl& (659) 38 51 89 9 1 9 2 100
DEct (23) 28 64 92 8 0 8 0 100
ol'd-de )
Tl (0-4) (277) 43 49 92 7 0 7 1 100
ZZ(5) (360) 37 52 90 9 1 10 0 100
H2(6-10) (304) 28 52 79 15 2 17 3 100
oE (59) 41 50 91 6 0 6 3 100
e /5
INIEINEre= (368) 35 48 84 12 2 13 3 100
RO Xt US (81) 30 45 75 19 2 21 4 100
XTI XY A (163) 45 44 89 8 2 10 2 100
Aol Xt A (423) 35 56 90 9 1 10 0 100
ojdd xtq |7
AS (209) 40 47 87 10 1 11 2 100
els (791) 35 52 87 10 1 11 2 100
cist Zist ge’d
o @ siCt (650) 39 51 90 8 1 9 1 100
LQBIK| 4Lt (333) 29 53 82 15 1 16 2 100
Dzt (17) 44 34 77 5 6 11 12 100

[
Hankook {Research



[# a03] Cst Zist offt 8L 7ot oot A 48 2. M2 &K ofetar x| ofsh Zto| Xi&

= o =

[A434.2] SE|LI2tol M Of2 MAlElE LHSol mH2 %o of= MEatm AzisiAlL 7t

Che
@ O§< @ CHH= O+@ Op-1-3 @ s ®+@
Base=TH MAT B | sier et wsich wsixl s getR g wed g SoAd
= HAH m (1,000) 42 49 91 1 7 2 100
Aéu:l
=Xt (494) 45 46 91 7 1 8 1 100
O X} (506) 40 52 92 6 6 2 100
E]
18-29A| (168) 35 54 89 7 1 8 3 100
30-39A (151) 44 43 87 9 1 10 3 100
40-49M| (184) 45 47 92 6 2 7 1 100
50-59A (195) 52 42 94 4 1 5 1 100
60M| O] A (302) 38 55 93 6 0 6 1 100
HEXH
M2 (187) 29 55 84 12 2 13 3 100
QIH/E7| (318) 42 50 92 6 1 7 2 100
O&/MB/5H (106) 43 44 87 9 0 9 4 100
Zz=/Met (97) 59 39 98 1 1 2 0 100
/45 (98) 37 55 93 7 0 7 1 100
BA2i/de (150) 51 45 9 3 1 4 0 100
ZA/HF (44) 45 51 97 3 0 3 0 100
L]
1E0|5t (568) 44 48 93 5 0 6 2 100
CHR{ O A (432) 40 50 90 7 2 9 2 100
A
S//0 Y (13) 46 38 85 15 0 15 0 100
PR R (80) 48 41 89 9 1 10 1 100
o/ E /M H[ A (93) 40 57 97 3 0 3 0 100
W75/ R (98) 48 43 91 7 0 7 2 100
AR /22 (245) 44 44 88 8 2 10 2 100
FH (148) 40 53 93 6 0 6 1 100
oA (75) 39 55 94 4 1 5 1 100
7| E} (126) 38 55 94 4 1 5 2 100
25/ % (122) 42 49 91 8 0 8 2 100
&
o dF2ER (357) 43 48 91 6 2 8 2 100
HEa dF 22X} (148) 40 51 91 6 1 6 3 100
NI ReDN (151) 48 43 91 8 1 9 1 100
HZHE= (344) 41 52 92 6 0 6 1 100
Hg7 hras
2000t/ 0) 2k (154) 40 48 88 8 1 9 3 100
2002+ O] Ab-3002HR! O|t (172) 41 49 90 6 3 8 2 100
3002t OfAH-400TH O]Tt (175) 42 52 94 5 0 5 1 100
4002H O|4f-5007H O] 2k (158) 49 48 97 3 0 3 1 100
5008HY O|At-6002tHl 0|2t (89) 41 47 87 11 0 11 1 100
6002+ O] Ah-7002HR O|t (78) 40 51 91 9 0 9 0 100
7002+ O] A (174) 43 47 90 6 2 8 2 100
FEH A BFU4
ZAE (318) 37 52 89 8 2 10 1 100
sl& (659) 46 47 93 6 0 6 2 100
DEct (23) 24 63 87 0 4 4 8 100
ol'd-de )
T2 (0-4) (277) 49 46 95 4 0 4 1 100
ZZ(5) (360) 47 45 92 7 0 7 1 100
H2(6-10) (304) 33 55 87 9 2 11 2 100
oE (59) 36 55 91 1 0 1 8 100
e /5
INIEINEre= (368) 41 47 88 1 9 3 100
FOF XHE A (81) 34 52 85 4 14 1 100
XTI XY A (163) 46 47 93 2 6 1 100
geol Xtq AZ (423) 44 50 94 1 6 1 100
ojdd xtq |7
AS (209) 42 50 92 2 7 1 100
= (791) 43 49 91 1 7 2 100
cist Zist ge’d
E'E.BHII- (650) 42 50 92 1 6 1 100
LQSIR| QLCt (333) 43 47 90 1 9 1 100
Egﬂltr (17) 31 45 77 0 6 18 100
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[E a04] Chst Teh off S Tk CistE AHE o2bd: 3. 43K Cistat 23ER| ofsh Zhof xtE

=Z]
[A434_3] PE|LI2t0IA Of2f HMA|Zl= LHEO ME XHEO| Of= Fzatn WAL}

Che
@ O§< @ CHH= O+@ ® g2 @ s ®+®
Base=TH MAT @) | epot metck | Mottt MebRl enh MebR ek Metx| ep oA A
= HA m (1,000) 29 52 82 15 2 17 2 100
Aéu:l
=Xt (494) 32 49 81 16 2 17 1 100
Of Xt (506) 27 55 82 15 2 16 2 100
ol
18-29A| (168) 27 48 75 20 2 22 4 100
30-39A (151) 35 44 79 15 4 19 3 100
40-49M| (184) 30 56 86 13 0 13 1 100
50-59A (195) 34 50 85 12 1 14 2 100
60M| O] A (302) 25 58 82 16 1 17 1 100
HEXH
M2 (187) 26 52 78 18 2 20 2 100
QIH/E7| (318) 29 55 84 13 2 15 1 100
CHE/ME/5E (106) 34 44 78 16 3 19 4 100
Zz=/Met (97) 31 49 80 16 1 17 3 100
/45 (98) 27 53 80 18 1 19 1 100
SiE/EE (150) 34 54 88 1 1 12 0 100
ZR/AF (44) 24 52 76 21 0 21 3 100
L]
nE0o|st (568) 33 51 84 13 1 14 2 100
CHR{ O A (432) 25 54 78 18 2 20 2 100
E3]
S//0 Y (13) 38 46 85 15 0 15 0 100
PR R (80) 26 56 82 17 1 18 0 100
THo/ D /A H| A (93) 34 52 86 13 1 15 0 100
W75/ R (98) 32 42 74 19 4 23 3 100
AR /22 (245) 29 49 78 17 2 19 3 100
ESES (148) 25 59 84 14 1 15 1 100
oA (75) 34 49 82 16 0 16 2 100
7| E} (126) 34 55 88 9 2 11 1 100
22 /5| (122) 24 57 81 15 2 17 2 100
&
o dF2ER (357) 31 50 81 15 2 17 2 100
HEa dF 22X} (148) 28 48 77 19 3 22 2 100
NI ReDN (151) 33 54 86 12 1 13 1 100
HZHE= (344) 27 56 82 15 1 16 2 100
Hg7 hras
2000t/ 0) 2k (154) 30 46 76 19 3 21 3 100
20022l O|4H-3002tl 0|2k (172) 26 51 77 16 3 20 3 100
3002t OfAh-4002tel DOJGE (175) 25 62 87 12 1 12 1 100
4002H O|4f-5007H O] 2k (158) 32 54 86 13 0 13 2 100
5002t O|A-go02tel OJFk (89) 30 50 80 18 1 19 1 100
6002t O|4H-7002tel O]2F (78) 32 53 85 12 1 14 1 100
7002+ O] A (174) 34 47 81 17 2 18 1 100
FEHE A BN
ZAE (318) 25 54 79 18 2 20 1 100
55 (659) 32 51 83 14 1 15 2 100
DEct (23) 15 57 73 23 4 27 0 100
ol'd-de )
Tl (0-4) (277) 35 49 84 14 1 15 2 100
ZZ(5) (360) 30 52 82 16 2 17 1 100
H2(6-10) (304) 24 54 78 18 3 20 2 100
oE (59) 32 56 88 6 0 6 6 100
e /5
INIEINEre= (368) 30 47 77 18 3 21 3 100
FOF XHE A (81) 29 48 77 19 3 21 2 100
XF0 XH US (163) 33 53 86 1 1 12 1 100
geol Xtq AZ (423) 28 56 84 14 1 15 1 100
ojdd xtq |7
A (209) 32 54 85 12 1 13 1 100
els (791) 29 52 81 16 2 18 2 100
cist Zist ge’d
%‘96}[} (650) 32 52 84 14 1 15 1 100
QTR kCt (333) 24 54 78 18 2 21 2 100
Egﬂltr (17) 16 47 63 5 6 11 27 100
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[& a05] CHet 2IEF of 2 S st ot X dz2bd: (B "asiote
[A434] RE|LIZIOIA] o2 MAIZlE= W& [ME KOl = Fratn 25t L7t
2l %
2. Mg X 1. iEXRE 3. 44X CHstat
Base=T14| Al (3) chstar x| DEX 2t9| 234N CHst
oist Zto| Xid W Zto| Xt
m HH = (1,000) 91 87 82
gy
=Xt (494) 91 87 81
of X} (506) 92 87 82
e
18-294A (168) 89 85 75
30-39A (151) 87 79 79
40-49KM (184) 92 91 86
50-59A (195) 94 92 85
60| 0] & (302) 93 87 82
HFEXY
Mg (187) 84 81 78
QIH/E7| (318) 92 88 84
&/ MB/58 (106) 87 81 78
/et 97) 98 90 80
/45 (98) 93 88 80
s/ 8d (150) 9% 94 88
BH/HF 44) 97 87 76
L
nEO0|st (568) 93 90 84
CHR{ Ol A (432) 90 83 78
A
S/2/0 Y (13) 85 85 85
e (80) 89 86 82
Tho{ /< /A H| A (93) 97 85 86
Wi 7ls/=F (98) 91 84 74
AR/ /M E (245) 88 84 78
e =1 (148) 93 90 84
S (75) 94 92 82
7|E} (126) 94 89 88
£ 2/5| 7 (122) 91 90 81
EHEX
A da2=2xt (357) 91 86 81
HIE2E da224t (148) 91 80 77
PR PN (151) 91 89 86
HZEMES (344) 92 90 82
dHa A s
2002+ 0|3t (154) 88 82 76
200%HY Of&f-3002H@ OJEt (172) 90 84 77
3002+ Of&f-4002HR O|gt (175) 94 90 87
4002t O|At-5002t9 O|Gt (158) 97 93 86
5002t O|Ah-g000H OJGk (89) 87 86 80
6007+ Of&-7002HR O|gt (78) 91 88 85
7002H2I0| & (174) 90 86 81
FHH A F4
M5 (318) 89 83 79
5t= (659) 93 89 83
ezt (23) 87 92 73
ol'dde(11d)
Fl 5 (0-4) (277) 95 92 84
ZZ(5) (360) 92 90 82
H2(6-10) (304) 87 79 78
£ (59) 91 91 88
e |5
INIERNEE= (368) 88 84 77
IR0t At AS (81) 85 75 77
AT XH U (163) 93 89 86
geol Xt A (423) 94 90 84
o’'gd xty |7
AS (209) 92 87 85
A= (791) 91 87 81
CHet Z1st 2o
Zasict (650) 92 90 84
LQstK| Lt (333) 90 82 78
DaZct (17) 77 77 63
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[H a06] CHEE Tt o8 U Xk sk Xpd AMzZEM. (B "MSHK| Lt
[A434] RE|LIZIOIA] o2 MAIZlE= W& [ME KOl = Fratn 25t L7t
2l %
3. 44X ciEtat i 1. CHEXR 2. M2 &X
Base=T14| Al (3) 239X CHet ZXb 7t9| chstap x|t
7to| Kt A CHS 7ol X
m HH = (1,000) 17 1 7
gy
=Xt (494) 17 12 8
of X} (506) 16 11 6
e
18-294A (168) 22 13 8
30-39A (151) 19 16 10
40-49KM (184) 13 7 7
50-59A (195) 14 8 5
60 0] A (302) 17 13 6
HFEXY
Mg (187) 20 17 13
QI /47| (318) 15 10 7
&/ MB/58 (106) 19 15 9
& /™at 97) 17 7 2
/4= (98) 19 11 7
s/ 8d (150) 12 6 4
BH/HF 44) 21 13 3
L
nEO0|st (568) 14 9 6
CHR{ Ol A (432) 20 14 9
A
S/2/0 Y (13) 15 15 15
PN R (80) 18 14 10
Tho{ /< /A H| A (93) 15 15 3
Wi 7ls/=F (98) 23 15 7
AR/ /M E (245) 19 12 10
e =1 (148) 15 9 6
S (75) 16 7 5
7| Et (126) 11 10 5
DXl /E| A (122) 17 9 8
EHEX
A da2=2xt (357) 17 11 8
HIE2E da224t (148) 22 17 6
PR PN (151) 13 11 9
HZEMES (344) 16 9 6
dHa A s
2002+ 0|3t (154) 21 16 9
200%HY Of&f-3002H@ OJEt (172) 20 14 8
3002H@ O|&f-4002tl 0|2t (175) 12 8 5
4002t O|At-5002t9 O|Gt (158) 13 6 3
5002t O|Ah-g000H OJGk (89) 19 12 11
6007+ Of&-7002HR O|gt (78) 14 10 9
7002H2I0| & (174) 18 12 8
FHH A F4
M5 (318) 20 16 10
5 (659) 15 9 6
DEACt (23) 27 8 4
ol'dde(11d)
Fl 5 (0-4) (277) 15 7 4
ZE(5) (360) 17 10 7
H26-10) (304) 20 17 11
ne (59) 6 6 1
e |5
INIERNEE= (368) 21 13 9
AFOF XHH AZ (81) 21 21 14
AT XH U (163) 12 10 6
ol Xt A (423) 15 10 6
odd Xt |
A= (209) 13 11 7
A= (791) 18 11 7
CHet Z1st 2o
mQsict (650) 15 9 6
LQstK| Lt (333) 21 16 9
Dact (17) 11 11 6
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[ a07] Z2F0Sstu W=ef Cfst w0 gk 5l XpAo| Ciet ME: 1. ZEIDSSW WA}
[A437_1] RE|Lt2t 2F0Sstu WALt CHet w0 gk Sl XA CHal OfEAH M2StuL7t?
TRl %
° N OEEE @ ™9 @+®
Base= 71| Aga @ | OMP @ UESE O+ gagx mmsk MzsK | mEAn A
|2|stct HO|Ct ME|stCt orer orer oty
m A m (1,000) 2 53 55 36 7 42 3 100
a4
=Xt (494) 3 52 55 34 8 42 3 100
of X} (506) 1 53 54 37 6 43 3 100
e
18-29A| (168) 4 52 56 28 12 40 4 100
30-39A| (151) 3 50 53 33 8 41 7 100
40-49M| (184) 1 51 52 39 7 46 3 100
50-59A (195) 2 56 58 36 4 40 2 100
60| 0] & (302) 2 53 55 39 4 44 2 100
HEXY
M2 (187) 1 55 56 33 8 41 3 100
RIHE /47| (318) 3 51 54 37 6 43 4 100
L/ MB/5H (106) 1 57 58 37 5 42 1 100
ax/H-et (97) 1 60 60 31 4 35 5 100
/45 (98) 4 46 50 40 6 46 5 100
SiE2/4E (150) 4 51 55 36 7 43 2 100
ZE/AF (44) 0 47 47 37 16 53 0 100
EE]
nEo|st (568) 2 55 57 34 6 40 4 100
CHR{ O] A (432) 3 50 52 38 8 46 2 100
A
5/8/0 Y (13) 0 51 51 41 8 49 0 100
e R (80) 0 56 56 39 2 41 3 100
THOH/ /M H A (93) 2 60 62 30 4 35 3 100
WA 7|5/ (98) 0 54 54 36 6 42 5 100
AtR/2e| /M2 (245) 3 48 51 35 12 47 3 100
=] (148) 2 50 51 42 5 47 2 100
I (75) 8 49 57 30 9 39 4 100
7| E} (126) 1 60 61 33 5 38 1 100
LD x| /E| %] (122) 3 50 52 36 5 42 6 100
EHEX
A a2 2Rt (357) 1 54 56 33 9 42 2 100
HEF2 dF 22X (148) 3 55 58 34 5 39 4 100
X ARt (151) 1 53 53 38 7 44 2 100
HZHES (344) 3 50 53 37 6 43 4 100
g ‘a5
2002HRlO) ot (154) 4 45 48 38 7 45 7 100
2007+l O 4h-3002HY O|t (172) 2 60 62 31 6 37 2 100
3002t OfA-4002tel OJEE (175) 1 49 51 38 7 45 4 100
4002t O]4f-5002+ Ot (158) 2 55 58 33 8 41 1 100
5002t O|Ah-6002Hl OJEH (89) 2 59 61 34 2 36 3 100
6002t O|AH-7002t@ O|2F (78) 2 54 56 38 6 44 0 100
7002t 0| A (174) 2 49 51 38 9 47 3 100
FEHE A B0
R (318) 2 54 56 38 5 42 2 100
s5t= (659) 2 52 54 35 8 43 3 100
Dact (23) 7 55 62 20 8 28 10 100
ol'dde(11d)
Fl 5 (0-4) (277) 2 59 61 31 5 36 2 100
ZZ(5) (360) 1 49 50 39 8 47 3 100
H26-10) (304) 3 48 51 40 7 47 2 100
Dz (59) 3 68 71 15 3 18 11 100
e /5
e s (368) 3 49 52 33 9 43 6 100
RO Rt UAS (81) 1 54 56 33 11 44 0 100
AT XHE A (163) 3 55 58 31 9 40 2 100
gol Xt AS (423) 2 54 55 39 4 43 2 100
ojdd Xt |7
A (209) 2 56 58 32 9 41 1 100
= (791) 2 52 54 37 6 43 4 100
chet st deMd
o asict (650) 2 56 58 34 6 40 2 100
ZQastx| got (333) 2 47 49 40 8 48 3 100
na7ct (17) 0 26 26 23 11 34 40 100
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[ a08] =FNSctu W=Qf CfEt w9 Ak A& Ciet ME|: 2. CHEE W=
[A437_2] R2|Lt2t 2F0Sstw WALt CHet w0 gk Sl XA CHal OfEAH M2StuL|7t?
TRl %
o o OEEE @ ™9 ®+®
Base=TA] Ml @ | Dm Do s adhny Mol Nae MR eamc A
- - = reCt reCt =Ct
m A m (1,000) 2 38 40 45 1 56 4 100
a4
=Xt (494) 2 40 42 44 12 55 3 100
of X} (506) 1 36 37 47 11 58 5 100
e
18-29A| (168) 6 48 54 30 9 39 7 100
30-39A| (151) 1 36 38 48 8 56 6 100
40-49M| (184) 1 31 32 50 14 64 4 100
50-59A (195) 1 42 42 45 12 56 2 100
60| 0] & (302) 0 35 35 50 12 61 4 100
HEXY
M2 (187) 2 41 42 44 10 54 4 100
QIH/E7| (318) 1 38 39 46 10 56 4 100
L/ MB/5H (106) 2 43 44 45 9 54 2 100
/M2t (97) 2 44 46 40 9 49 5 100
/45 (98) 1 32 33 46 13 59 9 100
BA2L/4E (150) 1 37 38 45 13 59 3 100
Z /M FE (44) 2 18 21 53 23 76 3 100
EE]
nEo|st (568) 1 37 38 45 12 57 6 100
CHR{ O] A (432) 2 40 42 45 10 56 2 100
A
5/8/0 Y (13) 0 30 30 40 30 70 0 100
e R (80) 0 30 30 47 21 68 2 100
THOH/ /M H A (93) 3 38 41 45 9 54 5 100
WA 7|5/ (98) 0 37 37 49 9 58 5 100
AR/ HE (245) 1 39 40 43 14 57 3 100
=] (148) 0 30 30 56 8 65 5 100
I (75) 9 55 63 25 6 31 6 100
7| E} (126) 2 43 45 44 8 52 2 100
LD x| /E| %] (122) 1 36 37 46 10 56 7 100
EHEX
A a2 2Rt (357) 1 41 42 44 1 54 3 100
HEF2 dF 22X (148) 2 40 42 43 10 53 5 100
R+ Xt (151) 0 30 30 49 20 69 2 100
HZHES (344) 2 38 40 46 8 54 6 100
Yy A S
2000HI 0 2k (154) 1 32 33 40 18 58 9 100
2007+l O 4h-3002HY O|t (172) 1 35 36 50 11 60 4 100
3002t OfA-4002tel OJEE (175) 0 39 39 49 8 57 4 100
4007t O|4f-5002tel O)ot (158) 2 48 50 39 10 49 2 100
5002Hl O|At-600EHR O|TH (89) 4 41 45 46 8 53 2 100
6002t O|AH-7002t@ O|2F (78) 4 37 41 42 13 55 5 100
7002t 0| A (174) 2 35 37 48 11 59 4 100
FHH A E4
R (318) 2 43 45 43 8 52 4 100
s5t= (659) 1 36 38 46 12 58 4 100
Dact (23) 3 23 27 45 20 66 7 100
ol'dde(11d)
Fl 5 (0-4) (277) 1 38 38 45 12 57 5 100
ZZ(5) (360) 2 34 36 48 12 60 4 100
H2(6-10) (304) 2 40 42 44 11 55 3 100
nE (59) 1 52 53 29 5 34 13 100
e /5
e s (368) 3 36 39 41 12 53 7 100
FQot Xt A 81 0 43 43 47 10 57 0 100
AT XHE A (163) 2 36 38 49 10 59 3 100
ol Xt A (423) 0 39 39 47 12 59 3 100
olgd xty |8
A (209) 1 40 41 48 9 57 2 100
= (791) 2 38 39 44 12 56 5 100
chet st deMd
ZQsict (650) 2 41 43 45 9 54 3 100
ZQastx| got (333) 1 34 34 47 15 62 4 100
Dzt (17) 0 0 0 29 23 52 48 100
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[ a09] Z=F0Sstu W=ef Cfst w0 2k 5l XpAo| Cist ME|: (Bgh "ME[SHT
[A437] R2|Lt2t XFDE3tm WAtet Cfet w0 Ak 9 XPEOf CHsl Of @A Azte
TRl %
KE=ETESIT
Base=Z1K| A% () T 2o as
= A m (1,000) 55 40
P
At (494) 55 42
o Rt (506) 54 37
o
18-29A| (168) 56 54
30-39A| (151) 53 38
40-49M| (184) 52 32
50-59A (195) 58 42
60M0] & (302) 55 35
HEXH
M2 (187) 56 42
QlX /A 7| (318) 54 39
E/MB/5H (106) 58 44
Zz/Het (97) 60 46
/45 (98) 50 33
SA2i/d e (150) 55 38
ZR/AF (44) 47 21
=
1ZE0|5t (568) 57 38
CHR{ O & (432) 52 42
A
S/2/0 Y (13) 51 30
o (80) 56 30
TR/ B /M H A (93) 62 41
WaIl5/2 R (98) 54 37
APR/EE)/HE (245) 51 40
FH (148) 51 30
S (75) 57 63
7|Ef (126) 61 45
F2/E| | (122) 52 37
X
A dF 22X (357) 56 42
HE7E AdFZEX} (148) 58 42
INRe: RPN, (151) 53 30
HZNES (344) 53 40
HEg 7125
2000202t (154) 48 33
2002t O] 4f-3000H O|oF (172) 62 36
3008Hl OfAh-4002tel O|2t (175) 51 39
4002H O|AF-5002te OfTF (158) 58 50
5008HY OfAh-6002H DO|2t (89) 61 45
6002t O|4f-7000HR O|ot (78) 56 41
7002H O] A (174) 51 37
FHE A B4
R (318) 56 45
55 (659 54 38
Rt (23) 62 27
o|'d-de(11d)
(0-4) (77) 61 38
Z5(5) (360) 50 36
H2(6-10) (304) 51 42
o= (59) 71 53
e g5
PNIE e (368) 52 39
IR0 AHe US 81) 56 43
=& R JAS (163) 58 38
gol xtg A (423) 55 39
ogdd xty |2
AS (209) 58 41
A= (791) 54 39
CHEt st oM
%‘Réftt (650) 58 43
ZQastR| gict (333) 49 34
EEZ*,lEt (17) 26 0
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[ a10] Z2F0Setw u=ef Cheh w0 2k S XpAo| Cist M2 (Bgh "MEISHK|
[A437] RE|Lt2t 2F 0SSt WAt CHet w0 A2k Sl XHEO| CHs O{EH ‘d2tst
TRl %
= =3
Base=Ti NEs @ | 2 ot me T ESESHE
= A m (1,000) 56 42
P
=Rt (494) 55 42
o Rt (506) 58 43
E]
18-29A| (168) 39 40
30-39A| (151) 56 41
40-49M| (184) 64 46
50-59A (195) 56 40
60A| 0 & (302) 61 44
HEXH
M2 (187) 54 41
QlX /A 7| (318) 56 43
L/ MB/5HE (106) 54 42
/et (97) 49 35
/45 (98) 59 46
SA2i/d e (150) 59 43
ZA/HFE (44) 76 53
=
1ZE0|5t (568) 57 40
CHR{ O & (432) 56 46
A
S/2/0 Y (13) 70 49
o (80) 68 41
TR/ B /M H A (93) 54 35
WaIl5/2 R (98) 58 42
APR/EE)/HE (245) 57 47
T2 (148) 65 47
St (75) 31 39
|EF (126) 52 38
£5/5| 5 (122) 56 42
X
A dF 22X (357) 54 42
HE7E AdFZEX} (148) 53 39
INRe: RPN, (151) 69 44
HZNES (344) 54 43
HEg 7125
2002H40] 3t (154) 58 45
2002t O] 4f-3000H O|oF (172) 60 37
3008Hl OfAh-4002tel O|2t (175) 57 45
4008H2 O|AH-500THY 0|2k (158) 49 41
5008HY OfAh-6002H DO|2t (89) 53 36
6002t O|4f-7000HR O|ot (78) 55 44
7002H O] A (174) 59 47
FHE A B4
R (318) 52 42
55 (659 58 43
DEct (23) 66 28
o|'d-de(11d)
T (0-4) (277) 57 36
Z5(5) (360) 60 47
H2(6-10) (304) 55 47
ne (59) 34 18
e g5
PNIE e (368) 53 43
ROt Xt AUS 81) 57 44
=& R JAS (163) 59 40
gol xtg A (423) 59 43
odd xtq |52
AS (209) 57 41
A= (791) 56 43
CHEt st oM
o Q3iCt (650) 54 40
ZR5HX| SCt (333) 62 48
DaAct (17) 52 34
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[A438] 2Et2l=¢ol stE=ntet WA =] O st&=0t71 =0 L|7t?
TRl %
A Ao 22el+¢o|
stEg a7t stEg a7t w2 xo|7}
Base=T14| At () 22l o A Eogeeel o1t DEAC A
stEaat 20 shEsa 2Ot o
=Ct =Ct
m MH m (1,000) 75 9 12 4 100
g4
At (494) 74 9 13 4 100
Of Xt (506) 76 9 12 4 100
ik
18-29A| (168) 66 12 17 5 100
30-39A (151) 66 11 16 7 100
40-49M| (184) 75 8 14 3 100
50-59A (195) 81 7 12 0 100
60M| O] & (302) 79 8 8 5 100
HEXY
Mg (187) 74 10 14 1 100
QI™/47| (318) 76 9 12 4 100
L/ ME/5H (106) 75 11 10 4 100
/et 97) 71 8 15 5 100
4= (98) 77 12 5 6 100
BAy2i/4e (150) 74 6 15 5 100
2/ (44) 79 3 18 0 100
B
nEOo|st (568) 73 10 13 4 100
CHA{ O At (432) 77 8 12 4 100
A
S/9/0 Y (13) 69 16 14 0 100
X (80) 75 7 15 3 100
oK/ B /A H | A (93) 77 11 7 5 100
WA 7|5/ (98) 79 8 13 1 100
AR/2E| /M2 (245) 76 8 13 3 100
T8 (148) 79 8 9 4 100
S (75) 63 18 13 7 100
7| Et (126) 74 6 17 3 100
£2/5| 7 (122) 72 9 13 7 100
XL
A daF 22X (357) 75 8 14 3 100
HIEA Az 22X (148) 79 8 11 2 100
AHE ARt (151) 76 9 12 3 100
H4xEs (344) 73 11 11 6 100
HEd7 Jhras
2002202t (154) 62 14 15 8 100
2002+ O Af-3002HR! OJgt 172) 78 9 10 3 100
3002+ O AH-400FHR O|gt (175) 70 10 16 5 100
4002t O|4-500THR Ot (158) 86 4 6 5 100
5002t O|Ah-g002Hel DOJGt (89) 77 12 10 1 100
6002+ O AH-700FHR! O|gt (78) 72 5 20 3 100
7002t 0| (174) 79 8 13 1 100
FEHE A FAUN
R (318) 79 8 10 4 100
stE (659) 74 9 13 4 100
nact (23) 50 8 30 12 100
ol'dde1d)
Tl (0-4) (277 80 8 8 3 100
SE(5) (360) 74 9 14 3 100
H226-10) (304) 75 10 12 4 100
g (59) 56 11 22 12 100
e |5
INIE e (368) 67 10 17 5 100
GR0t AHe US (81) 73 13 10 4 100
XTI XH AS (163) 78 8 11 3 100
ol Xt AS (423) 81 7 9 3 100
odd x4 |2
A (209) 76 10 11 4 100
= (791) 75 9 13 4 100
cist zist 2o
o Qsict (650) 79 9 9 3 100
ZQstx| 2ot (333) 67 10 19 4 100
DEACt (17) 48 6 12 34 100

[
Hankook {Research



